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1. AIRAGERE R EEAGK PR E?
{A) Correct

(BY Incorrect

2. GRS ERTETR IR R R BB B A IRAIERE?
{A) Correct

{(B) Incorrect

3. FrENHREREE LA vi [§E?
(A} Correct

{B) Incorrect

4. EIRSLEHIG AR BHEST & AT ERRE?
(A) Correct

{B) Incorrect

5. NREREMIAESAENREERE - T DEEHA AR - ERAIR AR EE AL FARES T HE
= AN RE R A R 2 7

(A) AR IE RARE

(8) FEHMEISMTEEDT - NMNRIATEAIRREE ~ Fp

(C) AFIEnERERE

(D) EFEEIEAIERTT - MPRIRE R - FHR

6. Lateral geniculate nucleus is part of the Tectopulvinar visual system?
(A} Correct
(B} Incorrect

7. Injury to frontal cortex will lead to blindsight?
(A} Correct

{B) Incorrect

8. When asked to draw a flower from memory, a patient drew only the right half of a flower. What is the most likely lesion focation in the
patient’s brain?

(A) left parietal

(8} rightvi

{C} right parietal

(D) left frontal

(E) right frontal
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9. Using Weber’s Law, if the discrimination threshold for a 100-gram standard weight is 2 grams, then the discrimination threshold when using a
200-gram standard weight would be ___ grams. -

{A) 0.02

(B) 2

{C}) 4

(D} 50

10. Gestalt psychologists used the example of illusory contours to support the claim that:
(A} Perceptions are formed by combining sensations
(B) Vision can be modeled by computer processing
{C) The whole is different than the sum of its parts
(D) The whole is more than the sum
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Source Description Error occurs when:
Availability heuristic 11A{ ) 11.R{ )
Representativeness heuristic 11.B.( ) 11.G6.( )

Base rate 11.C.{ ) 11H.{ )
Conjunction rule 11.D.{ ) 1L ()

Law of large numbers 11L.E( ) 0 T

1. The bigger the number of individuals drawn from a population, the more representative the group will be of the entire
population.

2. Easily remembered event is less probable.

3. Presence of similar properties doesn’t predict membership.

4. Probability that A is a member of class B is determined by how well properties of A resemble properties usually associated

with B.

Events that are more easily remembered are judged as more probable.

Relative proportions of different classes in the population is not taken into account.

Probability of co-occurrence of two events (A and B) cannot be higher than the probab:hty of single constituents.

Relative proportions of different classes in the population.

L XN W

Higher probability is assigned to the co-occurrence of two events.
10. It is assumed that a small number of individuals accurately represents the entire population.
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. BIRR BN AR 9 %@E%%E&E@ﬁﬁ%ﬁ%@%%@ﬁﬁ * (15 43)
. PERANZERSHRIBEHEELD ? BELE WG REIMPLEE 2 S48 ? SR = (E T AE O IR - (15 43)

- FREERBA = EENES B E (motor or perceptual development ) HAES 258 (language development ) FHRERYEIFE o (15
73 )
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